
Part-I 

*WI 
PHYSICS  

1. 	T4-fq 41 S. I. T*Ti : 	 1. 	S. I. Unit of pressure is : 

(1) atmosphere 

(2) bar 

(3) torr 

(4) pascal 

2. 	Which of the following is not the basic unit of 
measurement ? 

(1) radian 

(2) Kelvin 

(3) mole 

(4) candela 

3. 	3-fVf (1°) 	 : 	 3. 	One degree (1°) is equal to : 

(1) it  i-ftz(4 
360 

(2) 180 

(3) —91-10 
TC 	 

(4) 60 1I514  

4. 	f-IHRINd 't-4I1147:1-*-11-111ch ‘31-t14' Theit? 

360 
7t 

180 
It 

90 

rad 

	

4. 	'Ohm' is not the unit of which of the following 
quantities? 

(1) Reluctance 

(2) Reactance 

(3) Resistance 

(4) Impedance 

	

5. 	Which among the following, is the smallest 
unit of length? 

(1) Angstrom 

(2) Fermi 

(3) Micron 

(4) Nanometer 

60 

rad 

rad 

rad 

3 



(1)  v h, 
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(2)  
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h, 

(2)  

(3)  

(4)  

4 

6. 7;1 7-4TqA 4't 	(T17T) 2m -U21 m -0 3-4t1 h., 

h, tr.zf, TrPT 	iti 7rt l 	t ai 	u  

qRt fcii:t 	J4.14Er 	349410: 

7. Acsi 	 471 Wgt 3 i Midi chi 

sti 	c41 ? 

(1)  

(2) plat 171 

(3) Ti-41-i qiu 

(4) cciku 

6. Two bodies A and B of masses 2m and m are 

released simultaneously from heights h, and 

h2  respectively. The ratio of time taken by the 

two bodies to reach the ground is : 

7. What drives a nail into wood when struck by 

a hammer 

(1) Force 

(2) Impulse 

(3) Momentum 

(4) Acceleration 

8.  

9.  

3-11-47 	: 

I 	- 	14c4 -'TTI■c4 91-TF1 

8.  

9.  

Impulse is 
I 	- 	The total effect of force 
II 	- 	The product of average force and the 

time for which the force acts. 
III 	- 	Equal 	to 	the 	total 	change 	in 

momentum 	which 	combination 	is 

false? 

(1) I only 

(2) II only 

(3) III only 

(4) None of there 

Name the device which converts electrical 

energy into mechanical energy : 

(1) Alternater 

(2) Transformer 

(3) Dynamo 

(4) Motor 

art II 	- 	34Trd -ff941 311- 	ski 31 	cM4 

TriTzi 
III 	- 	TI47 14 V.4 tiltd-49 

FTT ra=h—,-;cr Trc,r• 	: 

(1) I  

(2)c 	II 

(3) III 

(4) 1-)1 

3q 	i 7RT qT4 4t zrr 

(1) 	9-4-4 

(2) it-y-bit1-1( 

(3) -TT-41:ft 

(4) liTU 
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10. 1,4-41,44 	m9qt :1-frriot : 
	

10. The numerical ratio of displacement to 

distance is - 
(1) 

(2)

(3)

(4) 

 T  TT:* 

*4 

(1)  

(2)  

(3)  

(4)  

#17111.;*, 	irj 

--FPIRTt t.,ch * c4ticv. 

11,4, *3,R1,11( zrich 

always less than one 

always more than one 

always equal to one 

equal to or less than one 

2-
A
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11. 	r 
4 sec. 

is dropped from a bridge reaches the 

in 4 sec. The height of the bridge is : 

∎ Iir iT-2R <V* 	,=.1:4 	11. 	Astone 

bottom Mcift;  I Vi 	3r.lti*ft 

(1) 78.4m (1) 78.4m 

(2) 64 m (2)  64 m 

(3)  20 m 
(3) 20 m 

(4) 260 m (4) 260 m 

%TR 12. 	A force of 5 N acts on a body of weight 9.8 N t 	ut*T4eta 	
The acceleration produced is : 

12. 	5 •id-4 

3FM 

*;1 Ti 9.8 

ccituf 	: 

(1) 40 ms -2  
(1) 40 ms 

(2) 5 ms -2  
(2)  5 ms -2  

(3)  1.46 ms -2  
(3) 1.46 ms 

(4) 0.51 ms -2  
(4) 0.51 ms 2  

13. 	The Kinetic Energy of a body increases by 

The linear momentum of the body 

by : increases 

13.  

WE .:.Orf 

ci.f.331 300% -rth *I 	 300%. 

aid 	.7114,11: 

(1) 300% (1) 300% 

(2) 150% (2)  150% 

(3)  100% (3) 100% 

(1) 50% (1) 50% 

14. 	11T--zi 

(1)  

(2)  

(3)  

(4)  

t 	 14. 	The Inertial and gravitational mass of a body 

are : 

(1) unequal 

(2) exactly equal 

(3) energy 

(4) density 

4-1111 

3Twim 

di* LT 	414414 

31Trifff-ga 

FrINIT mkicsi( 



16. 

17 

(1)  

(2)  

(3)  

(4)  

-4 7:1 AT T-(1 

16 

17. 

9,44014ilieu.i1Ic1 t : 

20 Hz to 2000 Hz 

10 Hz to 20 Hz 

20 Hz to 20,000 Hz 

20 Hz to 100 Hz 

rivf trrt it lit 4-FR 

The audible frequency range is : 

(1) 20 Hz to 2000 Hz 

(2) 10 Hz to 20 Hz 

(3) 20 Hz to 20,000 Hz 

(4) 20 Hz to 100 Hz 

A cube of ice floats in a beaker of water when 
the ice melts, the level of water in beaker : 

(1) falls 

(2) rises 

(3) remains the same . 

(4) may rises or fall 

18. Clouds floats in the atmosphere on account 
of their : 

6 

: 	 15. 	A 4°c given mass of water has maximum 15. 	ff,-4 1-11-41 trit *1 4°C tri R4134ftTr-  

(1) 3u4( (1) heat 

(2) (2)  volume 311'41,1 

(3)  3-,yli (3) energy 

(4) (4) density ).A.-ir,4 

(1) wig (1) aiR 

(2) **14Iirll (2)  

(3)  •11 ia1rci ct:Rtri (3) 

(4) W:1'.'%6114 4, *do( (4) 

low temperature 

low viscosity 

low density 

low pressure 

19. *T-r.4 A IT*Igt1q) ,Ra 	*.311-1{ (19'4%4 - ,-(j4 TT{ 

34w .vik ua 	 p44)-i  

19. A printed page is seen through a glass slab 
place on it. The printed words appear raised. 
This is due to : 

(1) 
(1)  Tqft 

(2)  11 	c1 	5FT11*-1 3114c1(44 F.:stor *I (2) 

(3) tp,t i'sro A 9.-4:71.  

i19-1 	i (3) 

(4) KiTit I IV1 c c 	N S1*141 	l 3TiiVr (4) 
TR-red > IdI'I 

refraction of the upper surface of the 
slabs. 

refraction of the lower surface of the 
slab. 

partial reflection of the upper surface 
of the slab 

partial reflection of the lower surface 
of the slab 



(1)  

(2)  

(3)  

(4)  

(S, + S2 ) V,V2  
S,V2  + S2V, 

S,V2  + S2V, 

V, + V, 
2 

V, - V, 
2 

(S, + S2) VIV2 

V,+  
(1) 2 

-  
(2) 

V, 

2 

(3) 
(s1 + s2) v,v2 
s,v2  + s2v, 

(4) sty,  + S2V, 
(S, + S2) v,v2 

20. it! 	4-11-10c4 	/Alichluf 1 	g I 3•i4- <Pnri 

TU1 qq '0' 	1:?:,If4=11T-4i 	1irci4-41t4-ii ei 	I g : 

(3) -11: 

(4)  

21. 41031-1.;',4-11 	'Mt -erth "fs  
1g,110 FirTi * 'Ft 	V- 1:11 311 ,slIcif 

ci 	 w fq-ff-dtt : 

20. Two mirrors are placed at right angles to 
each other as shown in the figure. The total 
number of images of an object '0' placed 
between them, that are seen are : 

21. Lunar eclipse occures when earth comes in 
between sun and moon. Solar eclipse 
occurs when moon comes in between 
sun and earth. This suggests that : 

(1) Two 

(2) Three 

(3) Four 

(4) Six 

22.  

23.  

I c4 

(1)  

(2)  

(3)  

(4)  

v,ch 

22.  

23.  

Ri-Kil!,411-1tt 14,m -47 	 frml 7-rt 
e 71:1-1. 	A e.1-)ki:1117, 50% ,:pr Lit 	t 

: 

2.51t 

4#1.. 

341. 

1.2541. 

3.17t1P 3fR Q *74.$71 sl  t v, *I *I 
MT! r'IP S2  , V2  <=ill 	 Ci&M <;14i 

: 

(1)  

(2)  

(3)  

(4)  

rit-it uul 	‘jcit I 

3- 13R,zrr --A 	TFi 	fulfl 

1 7-.17 3-0-ii4?-il 	7uT A tiTif 

fcriTrtt 	t 

(1)  

(2)  

(3)  

(4)  
A ball of mass 1 kg is dropped from a height 
of 10m it losses 50% of its velocity when it 
strike the ground. The height gained by the 
ball after strike will be : 

(1) 2.5m 

(2) 4 m 

(3) 3 m 

(4) 1.25 m 

A car covers distance S1  with velocity V1  and 
distance S2 with velocity V2  between two 
cities P and Q. Its average velocity will be : 

both eclipses occur on a new moon day 

solar eclipses occurs on a new moon 
day 

Lunar eclipse occurs on a new moon 
day 

both eclipses occure on a full moon day 



24. tiwm Pascal's low related to : icsi %Mt : 	 24. 

(1) iiTiusc-f (1) atmospheric pressure 

(2) 7.4i 	7411 (2)  Fluid pressure 

(3)  (3) Viscous flow :t4ii-r34c4i 

(4) 4Friftr41.Aair.:i4 (4) Stream line flow 

25. 141 urraret iii 	thi i WZri 	Trr-TAR4 6 	ri 

tqF : 

(1) 	.sr-aq 	v4R-riftf rr -ktrft-d d 

25. The particles which actually move in a 
current carrying conductor are : 

(1) 	protons in a direction opposite to that 
of current 

(2) 	protons in a direction which is same as 
(2) •th-Ler4* •it v-rm 	 ',bk. *I 	 that of current 

(3) # =i1 q-ITT t f-e;qn 	op-Ifta• 	ri 	 (3) 	electrons in the direction opposite to 

(4)(; tl 	 that of current 

(4) 	iftRt-ittiTkil  	ci 	 t I 

26. WI 	1-41NRI-r* W0.1S2S01-4V 1096 

#1 	7r-d-kW * i-4.41,44 	3-cciii4 
	r   *: 

(1) 10O. MIT 10 

(2) 1R2 f2T0.1S2 

(3) 1Q .1.410.01Q 

(4) 0.152 'ff2,TT 0.010 

27. 9T4 (g) 	: 

(1) 	T-41-0-t 4 

(2) 'lea* 4 

(3) •firt ,i11( 

(4) 4 

28. 'ffa A ZW(Tt   10 m/s. t I "zit t 

omit{ 	rit..1 W44 4i-rkTF 5 secs. .F1 
51irr 

(4) 	electrons in the direction of the current 

26. A technician has 10 resistors, each of 
resistance 0.10 . The largest and smallest 
resistance that he can obtain by combing 
these resistors are : 

(1) 10 SI and 111 respectively 

(2) 1S2 and 0.10 respectively 

(3) 1S2 and 0.010 respectively 

(4) 0.1 S2 and 0.01.0 respectively 

27. The Neutron vva discovered by : 

(1) Rutherford 

(2) Chadwick 

(3) Neils Bohr 

(4) Summerfield 

2b. Ocean wave striking the shore were found to 
move with a speed of 10 m/s. If the time 
interval between two consecutive waves be 
5 secs. Their wave length will be : 

(1)  

(2)  

(3)  

(4)  

100m 

50 m 

2 m 

0.5 m 

(1)  

(2)  

(3)  

(4)  

100m 

50 m 

2 rn 

0.5 m 



(1)  

(2)  

(3)  

(4)  

(2) (2) 

N-qct 	tr‘  The induced current in the coil is : 

9 

29. "ftl:;1 	 TR itl-e Q.ch W*041  ftTITT 	Tit 1414  
I 

29. Which one of the following figures 
represents correct path of a ray of light 
through a glass prism : 

30. if;', 	 .NA-a 	*WI 

3Tri1frTff F Icil r0 A 3(-11-1 I fas-d  ~1TZT wa=r 

1-rd̀ t t I 	PIHR-16-rf=ii A ARiq v 31-1-T 

vt 
(1) 

1 

30. If a voltage (V) is applied to a copper 
conductor and a current (I) flows through it 
which one of the following gives the relation 
between V and I. 

1—* 

(3)  vt 

(4) 
vt 

31. 441 cow+, T-3-41* 344T ER v-P-mIch NS MI I 

	ft41 A . 71-1-zu 	 A 

	 Arif*1 

1—> 

I--> 

31. A magnet NS is placed along the axis of a 
circular coil. The magnet is moved away 
from the coil as shown. 

(1) (1) zero -q -g 

(2) qrgiTqA (2)  clockwise 

(3)  qralurra-4 (3) anti clockwise 

(4) (4) none of these 3
-A

-
1

0
3

 S
e
c
r
et

/2
0

1
1

 

(3)  vt 

(4) vt 
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32. 	tp.."t Who first established the fact that the earth 

revolves round the sun. 

4 	-0- 	Wrat 	 Tr4 	32. 

321-gi,siiJit "WM : 

(1) tur--.4 (1) Kepler 

(2) 
(2)  Copernicus 

chik-it -0,4 

(3)  Newton 
(3) 

(4) Galileo 
(4) I fri 

33. 
33. At what point the centigrade and Fahrenheit 

temperatures are same, that point is : 

(1) 	10°  

'UzIT ti441s 	'411-1e. it 	,41 / 	6.1C1 

fOt 

(1) 10°  
(2) 	0°  

(2)  0°  
(3) - 10°  

(3) -10°  

(4) 	-40°  
(4) -40°  

34. If there were no atmosphere, what would be 
34. the colour of sky? ict( if, trr flat : 

(1) (1) 	Red Mitt 

(2) -nor (2) Blue 

(3)  (3) 	White 

(4) (4) 	Black ch i  

35. 35. ok,f, IftFT 

(1) m?-T 	31--4A-F 

(2)  9-m-ftri.Tr 

(3)  -ttzt 	tri 

(4)  tkr. 	isTi 

36. 
36. <4c-ci e4.1121 	4)114 aTTM t 474.4 : 

(1)  -4F 

(2)  '41, 44IT-4t1t, 

(3) 74-*-TV-4i-  'TO 	i  t 

(4) ie 3TE31 -q1c-1,41 

Red, yellow and blue are : 

(1) primary pigments 

(2) primary colours 

(3) secondary colours 

(4) complementary colours 

Tungstan is used for the manufacture of an 

electric bulb because: 

(1) it is malleable 

(2) it is un expensive 

(3) it has a very high melting point 

(4) it is a good conductor 



--rererrairn-- 
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37. 6.-S 	tut 	 4111.  •0—ifift4 : 	37. Water pipes are apt to burst in cold weather 

because : 

heavy pressure is exerted by show. 

they contract in cold 

the water in the pipe turns into ice and 

expands 

they expand on cooling 

(1)  (1 ) 14-1trrqqfq 	t 

(2) liTt ft =r-t— 	,-114 (2)  

(3)  iCf 1.11-114*-{‘slIcift311“Malt (3).  

(4)  6- 7-frill,tb—ff4t (4) 

38. -41 i 

A ‘,11-)t-ci 	 1 

B 	 

C 4 	rt,441-41-4 qr---dirtr- 	3 

(1) A 	B C 
1 	2 3 

(2) A 	B C 
2 	1 3 

(3) A 	B C 
3 	1 2 

(4) A 	B C 
3 	2 1 

39. 100w 5 3 41( "WI .3,-N'14 1 • 39. 

q;.011? 

(1)  0.5tqa 

(2)  1 -fie, 

(3)  21.:-R. 

(4)  5 TLidZ 

38. Match following 
A inductance 	1 

B capacitance 	2 

C variable resistance 3 

(1) A B C 
1 2 3 

(2) A B C 
2 1 3 

(3) A B C 
3 1 2 

(4) A B C 
3 2 1 

100 w bulb in 5 hrs consumes energy : 

(1) .0.5 units 

(2) 1 unit 

(3) 2 units 

(4) 5 units 

	

40. ITT, 	 c-i ,sHrf AST q,tdi 

	

(.1=1 	 tR 	 qF 4t f74-n- 

*fft ? 

40. An electron enters a magnetic field at right 

angles to it shown in figure. The direction of 

force acting on the electron will be : 

magnetic field 

(1) to the right 

(2) to the left 

(3) out of the page 

(4) into the page 

(1) Trti.1. 124 	74-R 

(2) 3c- 	TV 

(3) kw-a 4't 	 

(4) 1.4- '-r34,-,-,k 



Part-II 
aom  

CHEMISTRY 

41. EitA41 chemical is mixed in LPG to detect its . 
: 

ft-Trm 	197 -4 v4-1 	41. 	Which 
leakage Trzri 	t: 

(1) H2S (1) H2S 

(2) 'RI-21r49 3-713'171714a (2)  MIC 

(3)  TrRi (3) Mustard gas 

(4) 7A7 2173-i 	ci (4) Ethanethiol 

42. 	Chemically the water gas is : 42. 	(RfleiPisis t44 sue( 41 "eft t: 

(1) H2O (41) (1) H2O (gaseous) 

(2) CO + H, (2)  CO + H, 

(3)  CO2 + H2 
(3) CO, + H2  

(4) CO + N, (4) CO + N2  

43. 

44. 

43. 

44. 

The composition of Germansilver alloy is : 

(1) 70% Cu + 30% Zn 

(2) 60% Cu + 30% Zn + 10%Ag 

(3) 60%Ag + 40% Cu 

(4) 20% Cu + 30% Zn + 40% Ni 

The Latin name of metal Tungusten is : 

(1) Natrium 

(2) Ferrym 

(3) Wolfram 

(4) Kalium 

4-14.4 Pic-44-11414i ftl5;1 

(1) 70% Cu + 30% Zn 

(2) 60% Cu + 30% Zn + 10% Ag 

(3) 60% Ag + 40 )̀/0 Cu 

(4) 20% Cu + 30% Zn + 40% Ni 

(1)  

(2)  

(3)  

(4)  

gci cIrd-f BTU t: 

4k-zri4 

t44 

q'FRTITT 

tftrri 

45. 	Which is not related to colloidal solution : 45. 	sislc-iisrl t: 

(1) 741-rq (1) Tyndall Effect 

(2) fq7 *WI-tic-14 (2)  Electrophoresis 

(3)  siv 31T-2Trzl't (3) Very unstable 

(4) 5iI3 	4 ird (4) Brownian movement 

12 
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46. T amu 

(1)  

(2)  

(3)  

(4)  

One amu equals to : 

(1) 1.66x 10 -24 kg 

(2) 1.66 x 10 -24 g 

(3) 1.66 x 10 - 24  mg 

(4) 1.66 x 10 - "pounds 

etneR 6 Or 	: 	 46. 

1.66 x 10 -24 kg 

1.66x10-24 g 

1.66 x 10 -24  mg 

24  1.66 x 10 	Ircr 

47. 	8 mit 

(1)  

(2)  

(3)  

(4)  

Number of neutrons in 8 g He is : 

(1) 6.022 x 10 " 

(2) 2 x6.022 x 10 " 

(3) 3 x 6.022 x10 33  

(4) 4 x 6.022 x 10 2' 

He it 	titso-if ftat 	t: 	 47. 

6.022 x10 23  

2 x 6.022x 10 23  

3 x 6.022 x10 23  

4 x 6.022 x 10 23 

48. 	Tfl-TT 	 

(1)  

(2)  

(3)  

(4)  

4t 4414 ft1T4 	: 
48. 

21-TR-FR 

lilc,sk-a4 

7;ii:N 

kgfW 

Who discovered the nucleus : 

(1) J. J. Thomson 

(2) Goldstein 

(3) Rutherford 

(4) Chadwick 

49. 	fiT4-41T1-*-Tr -T 

(1)  

(2)  

(3)  

(4)  

49. 	Cinnabar is an ore of : 

(1) Copper 

(2) Mercury 

(3) Silver 

(4) Zinc 

33ttiE 6 cat: 

cIl1r 

147-**ft 

qtt 

7Rri 

Which cell is used in wristwatches : 50. 	""Rit 1451 	q--iTri 	 ? 	 50. 

(1) TIT,Tft (1) Mercury cell 

(2) ti-44F (2)  Daniel Cell 

(3)  c.)a-k-iikft tra (3) Leclanche cell 

(4) 1g4 	 (4) Fuel cell 

i1
-A

--
1

0
/-

  S
e
c
r
e
t/

2
0
1
1
 

51. tterztb4 CO,tg ''ti;IC-leicittrT 	 Trr  	k 

(1) 41 TT 	 

(2) a .-11W 	4-1 

(3) .0...-d-uvr f-4Trg 

(4) 	S►c-C•1 Tr -FR  

51. Which rule is applicable on the dissolution of 
CO, gas in cold drinks : 

(1) Hess' Law 

(2) Henry's Law 

(3) Kohlrausch Law 

(4) Dalton's Law 
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52. 	Which one is not acidic in nature : 52. tt-)-i 31R-419517-  %-4-4 Tel 	? 

(1) BF, (1) BF, 

(2) NH, (2)  NH, 

(3)  B (OH), (3) B (OH), 

(4) AICI, (4) AICI, 

: 	 53. 	Chemically the P.O.P is : 53. 	4.iiiiiPich •F:f izt 	P.O P. 

(1) CaSO4 . 2H,0 (1) CaSO, 2H20 

(2) (CaSO4)2  . H2O (2)  (CaSO4 ), . H 2O 

(3)  Ca (OH)2 (3) Ca (OH), 

(4) (CaSO4)2 	H2O (4) (CaSO4)2  . 	H2O 

54. 	Sodalime is : • 54. 	tilsicilig 	t 	: 

(1) NaoH + KOH (1) NaoH + KOH 

(2) Ca0 + Ca (OH), (2)  CaO + Ca (OH), 

(3)  NaHCO, + Na2CO3.  (3) NaHCO, + Na2CO, 

(4) NaOH + CaO (4) NaOH + CaO 

Which is not an alum : 

(1) K2SO4 . AI, (SO4), . 24 H2O 

(2) Na2SO4  . Al, (SO4), . 24 H2O 

(3) K2SO4  . Cr, (SO4), . 24 H2O 

(4) FeSO4 . (NH4), SO4  . 24 H2O 

55. 	4) 

(1)  

(2)  

(3)  

(4)  

t: 	 55. 

K2SO4  .A1, (SO4), . 24 H2O 

Na2SO4  .A1, (SO4). 24 H2O 

K2SO4 . Cr, (SO4),, 24 H2O 

FeSO„ (NH,),  SO4  . 24 H2O 

56. 	Metal present in chloroplast is : 56. 	ek ocicti =wit: 

(1) cl 6f (1) Iron 

(2) riicit (2)  Copper 

(3)  al'i,slic7-z (3) Cobalt 

(4) (4) Magnesium :4-1 kle144 

57. 	Which water soluble vitamin can be stored in 
: 

Vit - 

Vit - B, 

Vit - B, 

Vit - B,, 

57. 	.r)k Trr ad' 1-14 	1-11 	7rt 	7*-0-d 
our body 

(1)  

(2)  

(3)  

(4)  

ki.hort? 

(1) Vit - B, 

(2) Vit - B, 

(3) Vit - E3, 

(4) Vit - 
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58. 5', cid -.--tr-074171 	 : 	 58. The main component of LPG is : 

(4) 

59. 91 	 cA.111-1 

(1 ). 311-4#17 

(2) -Ri1M4,4 

(3) 	 

(4) 	s41 44 

60. 	 is 	.ti. fgca   ? 

(1) Qe.a-,-iwici-) 

(2) 1CTffl*, 

(3) ,at 

(4)  

61. TELf r4r4itT7)71 Fi'i11*: 

(1) tcti714 	 

(2) 	 

(3) 	 qT4T 

(4) 13TU#141-  

62. BOD zIft7 CODTEnt : 

(1) 347-ig7 ic3-1 

(2) ci-)1,11Pii, zft•rrr 

(3) lig .4,4up-ir-i:=1-k4m4 

(4) sJici 	srsqvis-i 	 474 

63. Wl TT17114tea 	 : 

(1) Tik-4 	 

(2) 4,c.1q-971:r 

(3) Trkq 7L-1  

(4) 71-(1-4TiTrifi  

(1) Methane 

(2) Ethane 

(3) Propane 

(4) Butane 

59. The most abundant element of the universe 
is 

(1) Oxygen 

(2) Silicon 

(3) Hydrogen 

(4) Sodium 

60. BHAand BHT are used as : 

(1) Insecticide 

(2) Food Preservative 

(3) Drugs • 

(4) Fuels 

61. TEL is used as : 

(1) Telephone device 

(2) Medicine 

(3) Antiknock agent 

(4) Food Preservative 

62. BOD and COD are : 

(1) Research Organisation 

(2) Organic compounds 

(3) Parameters to measure air pollution 

(4) Parameters to measure water pullution 

63. The energy of an electron in an atom is : 

(1) Always negative 

(2) Always positive 

(3) Always zero 

(4) All the above 
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64. 	31tTOP  	: 	 64. Tear gas is : 

(1) N20 (1) N20 

(2) 02N. CCI, (2)  02N. CCI, 

(3)  SO, (3) SO, 

(4) H2S (4) H2S 

65.7-414 

(1)  

(2)  

(3)  

(4)  

Which one is not a green house gas : 

(1) N,0 

(2) CH, 

(3) H,0 (Vapour) 

(4) CO, 

E al 	kct 741"7-ef 	: 	 65 

N20 

CH4  

H2O fqiurT) 

CO, 

66. 	2,4-D 

(1 ) 

.(2) 

(3)  

(4)  

t - 
66. 2, 4 - D is : 

(1) Fungicide 

(2) Insecticide 

(3) Bactericide 

(4) Weedicide 

chcich-IPIch 

citukipiql 

T3{-14(N1t 7Pft 

67. 	'TO -141-f/ 	pH -0-,91 	: 

(1) < 5.6 

(2) < 7.0 

(3) < 8.0 

(4) >• 7.0 

67. 	The pH of acid rain water is : 

(1) < 5.6 

(2) < 7.0 

(3) - 	< 8.0 

(4) > 7.0 

	

68. TR arc-14 -cii 	cm 	I1' liar t, fAT4117 
f=4,41-mr R-0.1 Ti 2u Te f-4,4T4 cik-4 URI 

(4(1,4 al-114* c4111-1,341di* : 

(1) ITrr4t2ftq 

(2) 	 

(3) t•--1-4 

(4) lzfFITR 

	

.69. aid 	iT (7r T■:r) 	u1t,41:14, 	TETT 	 

? 

(1) CuSO4  5H20 

(2) Cu (OH)2 + CuCO, 

(3) CuSO4 + Fe20, 

(4) CuSo4 + CuCO,  

68. The name of a polymeric plastic on which oil 
and water do not stick and is used to make 
non-sticky cook-wares is : 

(1) Polythene 

(2) Bakelite 

(3) Dacron 

(4) Teflon 

69. The chemical composition of rust of copper 
(green coating) is : 

(1) CuSO, 51-120 

(2) Cu (OH)2 + CuCO, 

(3) CuSO, + Fe20, 

(4) CuSo4  + CuCO, 
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Ts-I W1-110( a,i1 : 70. 	Choose the incorrect pair : 70 	'kid 	 

(1) MgO - UtPT 34WIT-Tt (1) MgO - Basic Oxide 

(2) SO2  - 	3.11 17444icolis (2)  SO2  - Acidic Oxide 

(3)  CO - 3;ITit 3TR7143 (3) CO - Neutral Oxide 

(4) P40,0  - qiftzt 311 	1rg (4) P4010  - Basic Oxide 

71. -Fdrig GNI ? 	 71. Bitumen is : 

(1) Airm 4t 4141 	tr4 	m r Tr-  4-1.-ezrq 	 (1) a 'petroleum product used in place of 
3C41 	4 	 coal tar 

(2) an insecticide used to kill bests 

(3) a fossil fuel used to burn in heavy 
vehicle 

(4) a polymer used to make cloths 

.72. What is gasohol ? 

(1) Green house gas 

(2) a hole in space 

(3) mixture of petrol and ethyl alcohol 

(4) mixture of petrol & kerosene oil 

73. Which one has highest calorific value? 

(1) CNG 

(2) 'ffiel 0 +lit t f'67 510-4 t4 
dtb-iikich 

(3) 1-Trft115,-1 7m4 ,..iv5FOref4 a 	10 icr- 
tv-4 

(4) c4114*ft70,141TI F;21.11 Icirtf 

72. 
44*Orm,11 4,zat  ? 

(1) 'etTTOTT 

(2) 3-ioriAi7**f 

(.3) 	c4 411T TiTta 	 

(4) ttfa 3.11T rti,4,1414 ctrl i%NT 

73. 04 TrdiP.T 1-K-01F-hcr, Tag kw! ? 

(1) CNG 

(2) LPG 

(3) 61441441 

(4) 171W4 

74. kid 741-11: 

(1) tl=r -Ali-4 

(2) Tkgzfl - 	4144 tb-r4Z 

(3) Ti - ctipst 

(4) 17R - qUi 

75. 04 Tri TIN 'Oa Tv' fir.lut1-- 911ut-l-rt 

(1) ilt-4-4m 

(2) 3T1-47flit4I-4 

(3) d(41)414 

(4) 3TT-4Tft7  

(2) LPG 

(3) Hydrogen Gas 

(4) Biogas 

74. Choose incorrect pair : 

(1.) Hair - protein 

(2) Bones - calcium phosphate 

(3) Cotton - Carbohydrate 

(4) Silk- Fat 

75. Which hormone is used for 'induced 
lactation' 

(1) Adrenaline 

(2) Oxytocin 

(3) Vasopressin 

(4) Auxin 
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76. 	Ti The heat energy in sun/stars is produced by: 3,-;11 fTT4pier 3c-W 	rci 	? 	 76. 

(1) -tiF,Ttrq fq-urg-4 3T5TFT7t (1) Nuclear fission reaction 

(2) (2)  Combustion reaction e.,-135.111 

(3)  (3) Nuclear fusion reaction RTN-Trzi 	ic.1441,3TF4T-P:11 

(4) (4) Thermochemical reaction 3-61-51-71 

77 ? 77. 4W 

(1)  

3411* 	#;“:rt 

01,4rwr1*Ere- t1 

(2)  *-4F4-11 	'Lim 

(3)  Wka 	449,-41-14 Ulcift 1 

(4)  TfT17 q.74 	7ITff t1 

78. 
78. 

*1-q.  : 

(1)  

(2)  31-014 q--ofiTo 

(3)  

(4)  31-Orgt-T 

What is wrong about fatty acids : 

(1) a component of fat 

(2) found in fatty men only 

(3) always contain even number of carob -
atom 

(4) used to make soaps 

Which of the following will not sublime : 

(1) camphor 

(2) Ammonium chloride 

(3) Calcium Chloride 

(4) Iodine 

79, 	qF 

,-,14 

79. 	The temperature at which vapour pressure 
liquid becomes equal to the atmospheric 

is : pressure 

,1144-114 	kth 	*TT 'qr-7 qT-T-rur 	 of a 
*w1.14 	A1 I1t 

(1) wir-R-4 (1) Boiling point 

(2) 710.-1117,  (2)  Melting point 

(3)  (3) Freezing point 

(4) 3 	i4id-ri4i (4) Sublimation point 

80. 	f*-TP4 -441-ft?Tg sodium metal can not be stored : 4ff14-)cl I ? 	 80. 	In which 

(1) (1) Kerosen oil rcw4.-r 

(2) 4T*1-4 J-1-114 (2)  Paraffin wax 

(3)  ' 2T-{ (3) Ether 

(4) (4) Alcohol 3c 	Tart 



Part-III 

~11q 144111  

BIOLOGY 

81. 	if-A 14 -iciikur 

1-45-17- 371-rjeuch Tart 114 

faf 	

1-45T-T 

,;!-Rf 

Plf( 	kico-4 

(1) -4-4t 	-4 54,44a R 	1.)4‘Gici 
ar.RTR 

(2) 	Tfi' ZhTzt liftt .34-11=WIch 

	

ITT 	3Tfir  	14 i;.t, -et 
(3) T:17  	Q{ 3+11 

(4) 	A:11-41 TAR 	 

84. 	77.7tft 	3-TP:174 'd211 3-Tiff 11 7-4ft 

trui 1;14 -sn-Trr 	tl t 

(1)  

(2) T<-4 

tEb-t (3)  

(4) etc  

81. Hybridisation refers to crossing between 

genetically dissimilar plants 

two different verities 

two different genera 

All statements 

82. Plant Micronutrient 

(1) Nitrogen 

(2) Calcium 

(3) Zinc 

(4) Sulphur 

83. lntercropping is : 

(1) growing of different crops on a piece of 
land in a pre-planned succession 

(2) removal of unwanted plants from the 
cultivated field 

(3) growing two or more crops 
simultaneously on the same field in a 
definite pattern 

(4) all statements true 

84. Internal parasites like worms affect stomach 
and intestine while flukes damage. 

(1) Kidney 

(2) Heart 

(3) Lungs 

(4) Liver 

85. 	t 3TRTTT 	aa1Mr72-11 	 : 	 85. Life supporting zone of Earth is known as : 

(1)  

(2)  

(3)  

(4)  

  

Hydrosphere 

Biosphere 

Atmosphere 

Lithosphere 

19 
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86. Acute diseases last for 

(1) Life time 

(2) very short period 

(3) a long time 

(4) non of the abve 

87. Sleeping sickness is caused by 

Slaphylococci 

Leishmania 

Ascaris lumbricoides 

Trypanosoma 

88.tt1-401- 	 +H14111 +11,1 
	

88. Antibiotic block biochemical pathway 

: 	 important for 

(1) (1) 	bacteria 

(2) qr-ITT4 	 (2) 	virus 

(3) ',I1L413TT 	 (3) protozoa 

(4) T- i• 	 (4) worms 

89. TirWrwr 	: 89. The commonest vectors are 

90. 

(1) 

(3)  

(4)  

79 

(1)  

(2)  

(3)  

(4)  

90. 

(1) Flies 

(2) Parasites 

(3) Mosquitoes 

(4) Amoeba 

The disease spread throughain 

(1) Pneumonia 

(2) Jaundice 

(3) AIDS 

(4) Cholera 

H 

(2)  

Ht 

31-41-qt 

c-ictic-tt 	lJtt : 

•'14-1 

lffa-ZIT 

i‘3'T 

91. - IT-41#1-11, ( 	 4-111c,if llMIT 
	

91. Japanese-encephalities causing virus will go 
TiTrri7 gi4c1C8: 	 to : 

(1) Lungs 

(2) Liver 

(3) Heart 

(4) Brain 

(1) (1) 4-.4ptri'1•4>1,-4)1 

(2) c,11-ti 	-t-tt (2)  

(3)  IT,4;frft 4-41-0Tht-g (3) 

(4) kr-44ricrt (4) 
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92. 92. 	Local general effect of inflamation is : 94Trq A • 

(1) TgiTft (1) Cough 

(2) 1.4-a-R (2)  Fever 

(3)  417,  :g1711  (3) Drousiness 

(4) --*-•4 1l ii (4) Rashes 

93. 	HIV : 	 93. 	In HIV infection, virus damages the : TiTiPri 	aISt 4 aE <tkrif 

(1) i'rz-itzr (1) Muscular system 

(2) aF 	r (2)  Nervous system 

(3)  NffftAn'ffT1---  (3) Immune system 

(4) +ici 	W-'q• (4) Circulatory system 

94. 	The scheme of classification is : 94. 	cilfialtrit 4:t 	: 

(1) '11 	eFfl:F4i (1) Phylum, kingdom, family 

(2) -71Tred, cb-17c14-1, W(11 T1 (2)  Kingdom, Phylum, Class 

(3) I: .Frei-H1:1, 	PId, 3-1V7 (3)  Phylum Kingdom order 

(4)  -4Tri, 	kWt (4) Kingdom, Order, Family 

95. Widely used classification is proposed by 

(1) Haeckel 

(2) Whittaker 

(3) Woese 

(4) Edison 

96. Monera group includes 

(1) Green algae 

(2) Amoeba 

(3) Plantae 

(4) Cynobacteria 

: 

- 041c-1 

97. 	Lichens 	is 	the 	symbiotic 	relationship 
between 

(1) Fungus and bacteria 

(2) Fungus and green algae 

(3) Fungus and funaria 

(4) Fungi and blue green algae 

97. 	c•II;41-iii14,:. 

(1)  

(2)  

(3)  

(4)  

1 ,-1( 

-4,1* awl •Ilar{q1 

•41•4 	T41 	*4-Fi 

114-) 	.Q41 tr-T4t#TI 

cb•4•1-, 'MB 
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98. TRITIENT*11TR'cl-T1131.11.)l,rildft: 	98. These are called the amphibians of the plant 
kingdom 

(1) Algae 

(2) Pteridophyta 

(3) Bryophyta 

(4) Fungus 

99. 	4A761-013-1-1-i 
99. 	Naked 	embryos 	of 	thallophytes 	& 

pteridophytes are called 

(1) egg  

(2) gametes 

(3) spores 

(4) seed 

ti-11-todt 	414 ,t1+-41,4 -4-T-T 

31-rit 

zsmr,T, 

41-49 

(1)  

(2)  

(3)  

(4)  4 

100. rh--  

(1) 

100. Seeds are enclosed in fruits 

(1) 	Gymnosperm 

41,4 .crr 

-94  

(2) (2)  Angiosperm Us 	kA-1 

(3)  hRit4ri • (3) Phanerogam 

(4) (4) Bryophyta siig 

101. .51:fth 101. Tamarind is a 

(1) (1) Gymnosperm plat Asi-I 	Tilq1 

(2) ia,siisiLi41 TAM t (2)  Dicot plant 

(3)  11,*(41.11-141 Atql (3) Monocot plant 

(4) Trdtft 
(4) Saprophyte 

	

102. .1.1 f-Av--*-1 ft"'R q-,1%c4,131). 4=t tRal   -g1 

(1)  

(2)  

(3) T-t-45  

(4) t-L-11141wr 

103. 'crtrrffg 41-clA 5-1,11. : 

(1) fict;I 	fon LR-ci tF, 	 

(2) i- ct;irkl.) 3T 1T 	 

(3) fx 	1.;1, X411-181.Tiftzf -cP-Idi yIOk 

(4) 
r
iAlliikct)•ffgt ciii-dacb  

102. An animal have two layers of cells 

(1) Jelly fish 

(2) Sponge 

(3) Fluke 

(4) Spirogyra 

103. Annelid animals have 

(1) Triploblastic but no coelom 

(2) Triploblastic & pseudocoelom 

(3) Triploblastic and doreiventvally 
flattened 

(4) Triploblastic & true body cavity 



1.04. 

23 

104. Palaemon, Scolopendra, Palamnacus are 
animals of group 

(1) Echinodermata 

(2) Mollusca 

(3) Arthropoda 

(4) Annelida 

(1)  

(2)  

(3)  

(4)  

c1441-1, 	rictivYt flti f41riP44, ,friqt 4r1 

c;f11.R.-1 

441d4-4-J 

3iTgINT1 

i&-ilki,sr 

105. 
105.  

(1) -513 

(2) 7.3.tf-43 
(1)  Mouth 

(2)  Eyes 
(3)  4.-chIc.)40 

(3) Scolex 
(4) Tr,ftTriTi 

(4) Acetabulum 
106. 7TT*TITTA 

(1) 
106. Shark fish have 

i*11-1174 5 if 
(1) Three chambered heart 

(2) P',1-0-Z4 t 
(2)  Two chambered heart 

(3)  .1c11 r.,9-141 
(3) No heart 

(4) ,3111,i)4t4 
(4) Four chambered heart 

1079-447"P47.474111"--1.11fw, 	3rItql 	: 

(1) 11-R4 

(2) *i-Pa f-434741-d- 

(3)  

(4) fqw-zitffT 

107. The girth of stem or root increases due to 

(1) Lateral Meristem 

(2) Apical meristem 

(3) Epidermis 

(4) Intercalary meristem 

108. 'tit 

(1)  

(2)  

(,3) 

(4) 

108. Flexibility in plants is due to 

(1) Parenchyma 

(2) Chlorenchyma 

(3) Aerenchyma 

(4) Collenehyma 

f i1 	1 %wit 	 *to' 	ter 	: 

lk-chl,i4I 

ctc'W•14,144f 

chltl-cf-J4-11 
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109. The cell of the tissue are dead, walls are 
thickened due to lignin, the tissue is 

109. 	3.)ricti ch) 	*. I .3)71*Q 51 r( 

*14(4 , Tf-e 	: 

(1) (1) collenchyma cHc-1-1114-11 

(2) (2)  sclerenchyma ..'-4-mq-c4-)1'41-lr 

(3)  tftzlIT (3) Cambium 

(4) 
(4) Aerenchyma 

110. -IT- 247-tzitW 
110. Desert plants, epidemics had a coating of 

1qr-gft 	c:TLE 

(1) 
(1) Lignin 

cr :-1- 

(2) 4zft-4 
(2)  Cutin 

(3)  I:Of-44 
(3) Melanin 

(4) 
(4) Iodine 

.3114)8 •-f 

111. Tissue that connects muscle to bone in 

Cartilage 

Ligament 

Tendon 

Areolar connective tissue 

111. 3r11,*9-9 

(1)  

(2)  

(3)  

(4)  

zf iaFTW13-14.144 cIT* : 	 humans 

(1)  

(2)  

(3)  

(4)  

3'4112,1 

T;Trzt, 

cbsti 

7,1(34 .3,(14) 

112. Reflex action is a function of : 

(1) 	Spinal cord 

.14kicir44) 112. 

(1) 

fTzit' 

(2) 11-01-7  (2)  Medulla 

(3)  4fTT4 -wr (3) Cerebrum 

(4) '41-4-(71-Wr (4) Cerebellum 

113. Red blood corpuscles formed in '111MA 113. OM krld 	 Wur i id r 

(1 ) Tf-fd (1) (1) Liver 

(2) 34111.4 (2)  Stomach 

(3)  Kidney 
(3) 

(4) 7645:4 1:M1 Ti (4) Bone marrow 

 

114. The part of cinchona plant, which yields 
quinine is: 

(1) Leaf 

(2) Root 

(3) Bark 

(4) Flower 
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115 q-71-4Tri 	 3wI 	144 	c4Wcf-).-seit : 	 115. Which one is not warm blooded animal 

(1) Pigeon 

(2) Fish 

(3) Rat 

(4) Bat 

116. Information necessary for constructing  and 
organising  cells is contained in 

(1) DNA 

(2) Nucleus 

(3) Mitochondria 

(4) RNA 

117. The organelle responsible for storage of 
starch, oil and protein granules is : 

(1) Chloroplast 

(2) Plastid 

(3) Leucoplast 

(4) Ribosome 

118. Which part do not have voluntary muscles 

(1) Leg  

(2) Shoulder 

(3) Heart 

(4) Hand 

119. Which statement correctly explain the "Test 

119. OW4T 	̀14(u-i fj' 	cf.) 	TLM 	 Tube Baby" 

(1) c4rt i( 

(2) T:F5-41 

( 3 ) 

(4) 	-41-1417.je., 

116. 1111,9.14-J 341-174-4; 

4N--d itt 

(1) tc*.,11 

(2) • ft3ITT 

(3) 4-11$,ilcbtreii 

(4) ,3-ii(vs-iv,i4 

117 qF sin* 	 Tarfri, 	Illd 	TrIt2i 

, c4 	: 

(1) Groko-cit 

(2) TA. 

• (3) 	(-7T- ILM4. 

(4) 	kiaii414-i 

118. 044 %T1 A-12,r-49*4711-4T 

(1) tri-4 

(2) *4 

(3)  

(4) 'FM 

(1) 

(1)  

(2)  VI f-44T11:1 	-141 

(2) Wiag 34irika, mri TIT fiTriur qio 

(3) f4iitvR <415.i i 5* (3) 

(4) F-1;‘q-i•qm m-rt f-41:67 %ft qrgl 
(4) 

120. clufiv-4 T-41-411'044-4 iT <4 t W6-.44414 Tit.V11-41 3,T-111-q 

the embryo develops in a test tube 

fertilization internal & development of 
embryo external 

fertilization is external & development 
of embryo internal 

Fertilization external & development 
of embryo too external 

120. Colour blind person has difficulty in 
distinguishing  between 

(1) Red & Blue 

(2) Green & Red 

(3) Orange & Red 

(4) Red & Black 



-IV 	 Part-IV 

	

+alio 	
MATHEMATICS  

121. 77-i:ff r_ha 	 121. Simplify 

1 	1 6 ___.+6_ .+8  1 	,..? 	 a  1 	a  1 	a  1 	a  1 	.-.) o—+o — +u-–u — =: 
7 	4 	2 

-64 
 	 7 	4 	2 	4 

1 
(1) 13 

(2) 6 1 — 
5 

(3) 23 —1  
7 

(4) 29 

122. 30°/0 of 150 + ? of 300 = 40% of 450 

(1) 65 

(2) 35 

(3) 45 

(4) 125 

123. In AACB, AB = 3cm, BC = 5cm, AC = 4cm 
41t  	: 	 Then right angle will be formed at 

1 
(1) 13 T 

1 
(2) 6 

1 (3) 23 .7- 

(4) 29 

122. 30°/0 of 150 + ? of 300 = 40% of 450 

(1) 65 

(2) 35 

(3) 45 

(4) 125 

123. AACB 14 AB = 3 41:ft BC = 5 #ift at AC = 4 

(1) Vertex A 

(2) Vertex B 

(3) Vertex C 

(4) Not at all 

17, 25, 12, 12 

124. Find the wrong term in the following series : 
9359, 	1558, 311, 17, 25, 	12, 12 

(1) 77 

(2) 25 

(3) 12 

(4) 1558 

124. 
9359, 

(1)  

(2)  

(3)  

(4)  

E N11-I 
1558, 

77 

25 

12 

1558 

: 
311, 

125. Wf 576 t I .3-1 

26 

125. The difference between 31% and 12% of a 
number is 576. Find 17% of the same 
number. 

(1) 640 

(2) 888 

(3) 544 

(4) 442 

kit9e4 f 	31°/0 3-117. 12% wr 3-T-7 

w 17% t I 

640 

888 

544 

442 

1-1(9q 

(1)  

(2)  

(3)  

(4)  
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126. 7&, sitreik 	126. If the selling price of 10 pens is same as cost 
price of 8 pens, then loss % is 

1011 	-FW4 Itc.-4 844i 	TztITTI• 
% 	: 

(1) 15% (1) 15% 

(2) 20% (2)  20% 

(3)  8% (3) 8% 

(4) 30% (4) 30% 

127. In a mixture of 75 litres, the ratio of milk of 
water is 2:1. The amount of water to be 
further added to the mixture so as to wake 
the ratio of milk to water 1:2 will be : 

127. 75 c 	Th9,11Y1 ii 	ti 	TITtl 2:1 -4 t1)-11 
qvirffr NTr4-, fitFTriprtrr u 	tail :2 

(1) 60 -41. (1) 60 Its. 

(2) 45 (2)  45 Its. 

(3)  75 (3) 75 Its. 

(4) 30 (4) 30 Its. 

128. The sum of the three consecutive odd 
numbers is 285. The smallest number is : 

128. 414 sb4-iii►rt 
u)-"t 

f-qmt 	 285 *1 TR4 
-1(.9.41 	1'n 

(1) 95 (1) 95 

(2) 97 (2)  97 

(3)  93 (3) 93 

(4) 99 (4) 99 
• 

129. .1-)i t.Tq 
q7 .77 

I trg 	129. A sum of money doubles in 7 yrs of simple 
interest It will become fourfold in : 

PT T71 bda1 Ji A 7 	77114 THE 5 cif 
,311;4411: 

(1) 10 yrs (1) 10 yrs 

(2) 35 yrs (2)  35 yrs 

(3)  21 yrs (3) 21 yrs 

(4) 14 yrs (4) 14 yrs 

130 3•TrPt tlirt
5  

--4— th tiT 44N1 
 

 

4 
130. By traveling at -7  th of his usual speed a 

 

20 frM is late by 20 minutes. Initial time to 
the distance was : 

Tf ff4 0M4 	374,.71 	 person 
: 	 cover ViTrvir Tfrrzt 

(1) 80 frTR7, (1) 80 minutes 

(2) 65 fi± (2)  65 minutes 

(3)  
(3) 45, minutes 

45 fi4.i 

(4) 50 minutes 
(4) 50 	1-1-1.(f. 
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131. rift --T1 T7 -47ft TT-it "? 	r 121-4--;":.141-1Thit 

rt,T; 

'1174 

34 201-4-, 	.,A1, --ft 	t 1 	44-1k 

*14 	i n71*1-7,4 4 TR:4 711111 : 

(1)  25 	 

(2)  40 

(3)  30 	 

(4)  35 IA.): 

132.-1(11t 

?,24 

3-1..-1-M 1:2:3:4 t I TE41 

311-1 f1sl 	r4-::)111. 	341C4 	 : 

(1)  144°  

(2)  150°  

(3)  156°  

(4)  162°  

133. t 17-f • :1T-IFIfiTzff 	t.1-1.-cit 132 cm. tl 	;‘, c3;117-f 

1-rq—":1114 cm t 	rsi 	fr-t 	:  

131. A tap can fill an empty tank in 12 hours and a 

leakage can empty the whole tank in 20 

hours. If the tap and the leakage are working 

simultaneously the whole tank to fill will take: 

(1) 25 hrs 

(2) 40 hrs 

(3) 30 hrs 

(4) 35 hrs 

132. Ratio of angle of a quadrilateral is 1:2:3:4. 

The sum of twice the smallest angle and half 

of the largest angle is : 

(1)  144°  

(2)  150°  

(3)  156°  

(4)  162°  

133. Difference of circumference of two circles is 

132 cm. Radius of the smallest circle is 14 

cm. The radius of the largest circle is : 

(1) 35 cm 	 (1) 	35 cm 

(2) 40 cm 	 (2) 40 cm 

(3) 46 cm 	 (3) 46 cm 

(4) 54 cm 	 (4) 54 cm 

134 	AT IV irtiq-)11 	-qwT (1111c1 	134. Raj, Ritik and Piyush begin to jog around a 

	 ;o *1 cfl-ii-Ht --t 	42 A. 567.1. at 6314.11 	
circular stadium. 	They complete their 

 
revolutions in 42 secs, 56 secs and 63 secs 

cf-)1,(.1rt 1-4 41-4 344 	:4 7RMIT* 	TTT21 alai : 	 respectively. They will be together at starting 

points after : 

(1) 336 secs 

(2) 504 secs 

(3) 252 secs 

(4) can't be determined 

(1) 336 A.°4 

(2) 504 tr.cii 

(3) 252 -A.,41 

(4) mft 	Nznl k-ichrit *1 
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135. i-11 	 tiftql 3TOT4 We t1 701 3T-01-4 
SkT 30 f4-1*W e1,7101 t I 	t Stiti 3T-eTri 

3kT 90 i4-i*•41' coil( tI zft 	 aTm4 

11 pm TrufraT c4,4) 	 :  

135. Rashmi sets alarm in two different clocks .  

The first alarm rings after every 30 minutes 
and the second rings after every 90 minutes. 
If they ring together at 11 pm. They will ring 
again together at : 

(1) (1) 12.30 am 12.30 

(2) (2)  2.00 am 2.00 

(3)  (3) 1.30 am 1.30 TO 

(4) 1.00 am 
(4) 1.00 Isle 

n 	n  - 1  2  + 2  111(4 TR 136. Simplifying 

(1)  

(2)  

(3)  

(4) 

2n  + 2 
n-1 

 136. ki&fichttli 

(1)  

(2)  

(3)  

(4)  

2  n - 1 

1 

2  n 

1) 

:2 - 2 n 	
we get : 

) 

2 

- 3 

1 

2 

- 3 

1 	
n  1 (2n- 

2 

3 2n +1 
2 

— 
2 	

(2 

3 	2 n  + 1 
2 

137. 04441ch 	 137. The value of the expression : 

12 + J 2 + NTT+ 	a WPM : 	 j2 + \I 2 +   (A 	is 

(1) 2 
(1) 2 

(2) 3 
(2) 3 

(3) 4 
(3) 4 

(4) 10 (4) 10 

138. 3""x3"+3 =9 Wr 138. The solution of 
33K+5 

 x 
 33K+

3 = 9 is 
: 

(1) 	K = 1 
(1) K=1 

(2) L= -1 
(2)  L= -1 

(3)  
-5 

(3) 
K- 	- 5  

K= 	3 3 

1 (4) K= 	1 
K= 	2 2 (4) 



139 3itc, 	0 1,1 w ui 	I 41 	BC = OD, 

ZAOD = P 3i ZACO 

B 

(1) 

141. z1t S Trdg 	 .14111-1 V I 

(1)  10° 

(2)  43 ° 

(3)  16 ° 

(4)  31°  

10 °  

(2) 43 °  

(3) 16 ° 

(4) 31 °  

141. If cube of surface S has volume V, then 

30 

3 
(1) p= 2 q 

(2) P = 2q 

(3) P = 3q 

(4) P 311"( q 	-WM -1+-st.A.1 -14 t I 

140 	 zit *1111 ZFBD = 62°, ZBAC = 43°. 

Z EDC 	r 1-114 0Ii :  

139. In the figure, 0 is the centre of the circle is 

BC =OD, ZAOD =Pang LAC° =q 

3 
(1) p= 
	

q 

(2) P = 2q 

(3) P 3q 

(4) There is no special relationship 

between P and q 

140. In the figure if LFBD = 62°, ZBAC = 43°. 

Then Z EDC will be : 

2S 4-17h- *Tr-d-e airs ER 1,3-11i-lci-r 	 volume of cube of surface area 2S is : 

(1) [2 V (1) 

(2) 2 V (2)  

(3)  2 fi V (3) 

(4) 4 V (4) 

12-  V 

2 V 

212 V 

4 V 



180° 

90°  

90°  - 1  -- LA 
2 

90° + 
2  
1 ,A  

31 

142. q 

(1) 

1 	1 	3 	1 
142. If x + x 	=  

4 	
Then x + 3  would be : 

x+x -1  = 	x3 + -IT w 	: 
4 

64 
(1) 64 

(2) 52 
(2)  52 

(3)  32 
(3) 32 

(4) 12 

(4) 12 

1 + tan20 143.  	 : 

1 + cot20 

(1) sec20 

(2) - 1 

(3) cot20 

(4) tan20 

144. 	vsah 

TITT 
3 	-3roleif1 3-TT:EMI : 

3w4-{ 	TK1Ir: 

(1)  90°  

(2)  60°  

(3)  45°  

(4)  30°  

145. 7T AABC, LB 7271 LC 'TT 3T-..43:11-g 

"F47 P trT fird"A t1 	ailfti 

frr-d-kt LBPC+LBQC 1rITT ,11 : 

A 

1 + tan20 
143. 	 is equal to 

1 + cot20 

(1) sec20 

(2) - 1 

(3) cot20 

(4) tar120 

144. The ratio of length of a pole and its shadow is 
1 : r3, The angle of elevation of sun is : 

(1)  90°  

(2)  60°  

(3)  45°  

(4)  30°  

145. In a AABC, internal bisectors of LB and LC 

meet at P. External bisectors of LB and LC 

meet at Q. Then ZBPC + ZBQC will be 

(1) 90°  

(2) 90° - 

(3) 
900+ 

(4) 180°  

(1) 
1  LA 2 

1 (2) /A  
2  

(3 ) 

(4) 



1100  

(1)  500  

(2)  60°  

(3)  70°  

(4)  120°  

34 

	

2 
(1)-0,3 TC CM 

343 	3 (2) it CM 
7 

(3) 8 
343 

(4) 	 i4 .1:4* 

T1 CM
3  

32 

146. 7- 71•T*IftWr 	ss=ri t 3-T-II:Tr1 4 : 7 t 

tir“il,W11174:792 cm2*I Ittt-rgT 

eft : 

(1) 3cm 

(2) 11cm 

(3) 12cm 

(4) 28cm 

• 147. 7cm TAT* dkr ER 	Trit T4A 	t: 

148. T, a sing) = b cosh , T4 sec24 

a
2 

(1) -- 

(2)- 
a 

b2  

(3) a2  + b2  

a2  + b2  
(4)  

a
2 

149. ,3-1T-frff ABIICD*iit ZBOC 

A  	 1.3(1°  

146. The radius and slant height of a cone are in 

the ratio 4 : 7 If the curved surface area of 

the cone is 792 cm2. Then radius of the cone 

is 

(1) 3cm 

(2) 11cm 

(3) 12cm 

(4) 28cm 

147. The volume of the sphere curved out of a 
cube of side 7cm is : 

343 	2 
(1 ) 	11 cm 

6 

343 (2) 	item ' 
7 

343 	3 
(3) 	TC cm 

8 

(4) 	none of these 

148. If a sin4 = b co$ , then value of sec2(1) is 

(1) a 
 

b2  

(2)  
a

2 

132  

(3) a2  b2  

a 
2  

2  b2  (4)  
a 

149. In the figure, the value of ; BOC, If value 

AB H CD 

(1) 50°  

(2) 60°  

(3) 70°  

(4) 120° 

• 
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